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1.   27

2.  36

3.  25

4.  40

5.  83.14

6. (5X1)+(6X0.1)+(2X0.10)+(3X0.100)

7.  (1X100)+(8X10)+(7X1)+

(1X.01)+(2X.001)

8. >

9. <

10. =

11. 724.5

12.  3.458

13.  40

14.  8

15.  3a2+21a+2

16.  4.4n +6.6

17.  30p5+5



18. Danny bought 2 shirts for $14.89 each, a belt for $5.50, and 3 sweaters for $19.98 each. What was the total cost of his purchase?

Answer: (2X14.98)+5.50+(3X19.98) = $95.22

19. Bea opened her piggy bank and found 28 pennies, 35 nickels, 49 dimes, 18 quarters, and 27 one-dollar bills. How much money did she have?

Answer: .28+(35X.05)+(49X.10)+(18X.25)+27= $38.43

20.  Matthew enlarges his vegetable garden so that its new dimensions are three times its original dimensions. If the new dimensions are 176.4 cm by 240.6 cm, what were the original dimensions?

Answer: 58.8 cm X 80.2 cm
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